Panasonic

Ceiling Mount Bracket

WV-Q107AE

rating
nstructions

Bialore allimpling 16 connecl ar mglal thig oroduel,

Pradse read theads Inatruchons cardlully ard
sEve thog reanual 'ar Teture gse

Mt 1D FWYEROALDIGAAN Frinecl i Jagian
LR

Mha Satling Meaunt Hrackel W-CHDPAE 18 usod 16
maount e Combirabion Camorn WY-CEA50 20

WhLCHERA on @ anlling

PRECAUTIONS

o Fauien ihe norackal o8 cmil 19 Birang encugh & AN necessary stops raouirad tor nstalling
e Supperl tha camara welgh! laporos 2.6 g product must Do laken by 4 qualllisg s
bl Wi pergan of gyslor sl

¢ Wipe Lho brackal ragulany geing & sobt and ¢ 00 aura to usa 1he anti-tal wira
dry clath, or a cloth moslenad wilth & walor
solulian af an arcinary kivshen datgrgant Trd  mockél  rumare i s Qparatbing

WEIGhenes ara shera without auttiz
o [p nol use chamienls for o Iarireg Lhe sl
AUMA A 1E iy dumage thio sureltac



INSTALLATIONS

Make a hole (60 mm in diameter) in the ceil-
ing and four holes in the wall using the
Template (supplied).

Have the specified board ready 1o suspend
the bracket.

Make a hole (60 mm in diameter) in the spec-
ified board.

Fasten the Ceiling Mount Angle (supplied)
with four screws (not suppfied) as shown
below.

C channel

M channel

Specified board

60 mm in diameter




Aftach the board to the ceiling.

Remove the Mounting Screw (M3, supplied),
pull up the Camera Mounting Angie off the
camera, and turn the camera counterclock-
wise.

Remove the two Lock Plate Fixing Screws,
lake the Lock Plate oif the Camera Mounting
Angle, then fasten the Lock Plaie (supplied
with the bracket).

Retighten the two Lock Plate Fixing Screws
removed just before.

Remove the two Lock Plate Fixing Screws,
take the Lock Plate cff the combinaticn cam-
era, then fasten the L-type Lock Plate (sup-
plied with the bracket).

Retighten the two Lock Plate Fixing Screws
removed just before.

Mounting
® Screw

Remove the Camera
Mounting Angle by
pulling up.

Lock Plate
Fixing Screws g t

Lock Plate ¥
Fixing Screws ki

L-type Lock Plate (supplied)

Lock Plate Fixing Screws

( | Lock Plate

T kit
117 i

{supplied)



ass the power cord and video cables through
the hole in the Camera Mounting Angle, and
fasten it to the bracket with the four Bracket
Fixing Screws (M4x8L, supplied).

Camera Mounting Angle

Bracket Fixing Screws
(M4xL8, supplied)

1 0 Fit the Slot Masking Cover (supplied) over

the bracket, insert the Hexagonal Socket Slot Masking Cover {supplied)
M3 Screw (supplied) *2
Hexagonal Socket Head
Cap Screw (M4, supplied)

Head Cap Screws (M3, supptlied) into
their holes, and fasten the Ceiling Mount
Angle (supplied) with the two nuts (M3,

supplied).
_______ i Nut
{M4, supplied)
*1 Use two nuts.
*2 Fasten finally.
1 Suspend the Fall Prevention Wire for the * The bracket is not shown in the illustrations.
camera from the Camera Mounting Angle,

Neote: Make sure that the wire matches the
Fall Prevention Wire Fixing Angle.

Ring of the Fall
Prevention Wire




1 2 Attach the camera 1o the Camera
Mounting Angle, turn the camera clock-

wise, and tighten the Mounting Screw Rotate
(M3, supplied) _"150

Mounting
Screw

Camera
Mounting
Brackeat

L-type Lock
Plate (supplied)

1 Place the Decoration Cover for the brack-
et on the camera. Then, pull up the Slot
Masking Cover (supplied).

Decoration Cover

|

Slot Masking Cover
{supplied)



' 4 Attach the Fall Prevention Angle Clip (supplied) to the anchor bolt.
Attach the Fall Prevention Angle (supplied) to the bracket and the Falll Prevention Angle Clip.

Note: Two anchor nuts are necessary for the anchor boll.

e ™y
Instructions for the Fall Prevention Angle Clip (Supplied)
1. Remove the Fall Prevention Wire from the Fall Prevention Angle Clip.
2. Insert anchor bolt from side @.
3. Fold side @ down over side @.
4. Suspend the Fall Pravention Angte Clip from the other end of the
Fall Prevention Wire. ..above
il Side @
1 Insert
2 Remove 3 Fold down
[
N b 1
Fail Prevention Wire / Ay
Side @ ¥ iheiow: X
Anchor Bolt %u
—

Fall Prevention
Angle Clip
(supplied)

Fall Prevention
Wire (supplied)

Fall Prevention — Anchor Nut
Angle Clip E%

' (supplied) —— Used Anchor

Bolt
i T T e e e

I 5 Cover the brackel with the Heat Insulator
{supplied).

Heat insulator
{supplied)

AL

7Y, ‘ o
N,

>
RN
oz,

L
2
%%

Heat insulator (supplied)



SPECIFICATIONS = = =~

Ambient Operating Temperalure:
Dimensions:

10°C - +50°C (14°F - 122°F)
120 {diameter) x 218 (D) mm

[4-8/11 {diameter) x 8-9/16 (D)]

Weight:

Weight and dimensions indicated are approximate.
Specifications are subject 1o change without notice.

650 g (1.43 ibs)

Fall Proteclion WIre ..o s cinenn 1pc.
Fall Prevention Angle Clip ..., 1pc.
Ceiling Mounting Angle ... 1pc.

L-type Base Plate ...,
L-type Lock Plate
Slot Masking Cover
Hexagonal Sockel Head Cap Screw (M4) ... 2pcs.

Spanner
Nut (M4)
Screw {M3)
Bracket Fixing Screw (M4xLg)
Template
Heal INSUTator ..o,

Matsushita Electric Industrial Co., Ltd.
Central P.O. Box 288, Osaka 530-91, Japan



'STANDARD ACCESSORIES -

all Protection Wire oo v
all Prevention Angle Clip
>eiling Mounting Angle ...
-type Base Plate ...............

-type Lock Plate .......
lol Masking Cover

{exagonal Socket Head Cap Screw (M4) ... 2pes.

SPANNET e 1pe
NUEIMAY i 4pcs
SCrew (M3) i e 2pc
Bracket Fixing Screw (M4xL8) ... 4pcs
Template ..o ipc
Heat Insulator ... 1pc

Matsushita Electric Industrial Co., Ltd.
Central P,O. Box 288, Osaka 530-91, Japan



